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&8 (36) MmN | R amp | menek | FEOEE| pupnn | keman | semx | ooee AR
R6.9.27} 1 |AMEBRHEETMIS LTOEEE 7/18) 5.800] 100 5, 800 5. 800 0 0 0 0 0 0 0 0
R6.9.27| 2 ﬁﬁ)ﬁﬁﬁﬁﬁ CrERMBAERHRASHER (RTI=T 6,160 100 6, 1sol 6, 160 0 0 0 0 0 0 0 0
AHERHE(BERRABAABIZOLTOTESD
R6.9.27 3 ) (BEiet 1/29) 6.160] 100 6, 1so| 6, 160 0 0 0 0 0 0 0 0
RE.0.27 4 |FHEBHS (EHGEEMEALS) (BT 8/ 6.160] 100 6, 160 6, 160 0 0 0 0 0 0 0 0
RE.9.27( 5 [HHEBRHY (CENENEENERS) (BFIzT 8/2) 3,080 100 3, osol 3, 080 0 0 0 0 0 0 0 0
R6.8.27| ® f/g”ﬁﬂ%ﬂ & (RBAOBRERBL) FHETHRAFIZT 5.210| 100 5, zml 5, 210 0 0 0 0 0 0 0 0
RE.9.27( 7 |HHEBHES (SRMBEAES) (BFICT 8/9) 4,360| 100 4, 3EUI 4,360 0 o 0 0 0 0 0 0
RE.9.27| 8 |HHEBEHS (SRIILERNES) (BF 8/9) 4,360 100 4, saol 4,360 0 o 0 0 0 0 0 0
RE.9.4| 9 |REEREMEENTVAAEEFARE8A9E) 40, 055 99 39,694 0 0 0 39,694 0 0 0 0 0
RE.0.4| 10 |ar—iERE (6B, 784 1,220 50 5.6101 0 0 0 0 0 0 0 0 5,610
R6.9.9| 11 [HEREAR(EHED B14] 50 407 0 0 0 0 0 0 0 0 407
R6.9.8| 12 HERBARURGEE . 774 0E) 1,100 50 550F 0 0 0 0 0 0 0 0 550
R6.9.13| 18 [HEREAH(T—T0U) 2.862[ 50 1,431 0 0 0 0 0 0 0 0 1,431
RG.0.14| 14 |FHUULK 4,848 25 1,212 1,212 0 0 0 0 0 0 0 0
RE.9.17| 156 |RtFETHBNERE AGE (BRS) 23,440 50 1, 720] 0 0 0 0 0 0 0 0 0 11,720
R6.9.19] 16 [Hv 1 1t 4,830 25 1,207 1.207 0 0 0 0 0 0 0 0
R6.9.250 17 |E BB 4EENRILE (a‘ﬁﬂ'ﬁmﬁt‘) 107,030l 9] 105, 959) 0 0 0| 105,058 0 0 0 0 0
R6.9.25) 18 |HERBAE(T7AILHvIR) 990] 50 495 0 0 0 0 0 0 0 ) 495
RG.9.25| 19 [+ »&—Fpw HMUEERASE) 9.372| 50 4, sasl 0 0 0 0 0 0 0 0 4, 686
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RE6.9.26] 20 [H 14k 4,861 25 1,215 1,215 0 0 0 0 0 0 0
R6.9.27) 21 |EEREESEIBME 3,780 50 1,805 0 0 0 0 0 1.895 0 0
RE.9.27| 22 jaE—#y—z2H 20,460 50 10, 230 0 0 0 o 0 0 10, 230 i |
R6.9.30[ 23 |Huy e 4.488| 25 1,122 1,122 0 0 0 0 0 0 u}
R6.6.3| 24 [Hv )4t 5194 25 1,298 1,208 0 0 o 0 0 0 oL
R6.0.7| 28 [Hw gt 5131 25 1,282 1.282 0 0 0 0 0 0 ui
R6.9.18( 26 |EFEHMERROAD) 1, 469 50| 734 0 0 0 0 0 734 0 0|
R6.¢.18| 27 (BEMETKELXOHD) 3,509 5o| 1,754 0 0 0 ¢ 0 1,754 0 o
o 0 0 0 0 0 0 0 0
¢ 0 0 0 0 0 0 0 0
9g 296, 793 233, 791 48, 626 145, 653 0 0 0 4,383 23, 408 11,720
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R6.10.5] 1 [HWYy vt 50434 25 1, 260/ 1,260 0 0 0 0 0 0 uL

R6.10.8] 2 |aE—H#ERAKBES) 13,784 50 6,892 0 0 0 0 0 ) 6, 892 o

R6.10.8| 3 [HBEREAR(F—TOU. FTF733L) 2,138| 50 1,089 0 0 0 0 0 i} 1,060 o

RE.10.8| 4 |EEEThBEA A GAD 41,530] 501 20,765 ] 0 0 0 0 0 0 20, 765

R6.10.8 5 |[EMDy—FILHEHEHE (RAFHHMSE) RE. T~08) 8,785 100] B, 785 0 0 ¢ 0 g, 785 0 0 0
R6.10.10] 6 |HV Ut 5113 25 1, ml 1,278 0 0 0 0 0 0 0
R6.10.16] 7 |HV U 4% 4.154] 25 i, oaal 1,038 0 0 0 0 0 0 0
R6.10.17] & |EHHESRMLI0AS) 2,062 80 1,031 0 0 0 0 0 1,031 0 0
RE.10.22f 9 | & —Fw HMU(BHERLESLD) 9,336 50 4, 668 0 0 0 0 0 0 4, 668 0
R6.10.22] 10 |SEFESRR L F/KIE4E 3,500 50 1,754 0 0 0 0 0 1,754 0 0
R6.10.23] 11 |Hw U it 4,986] 25 1,246 1,246 0 0 0 0 0 0 0
R6.10.28] 13 [aF—isy—=zH 20,460| 50 10, 230 0 0 0 0 0 0 10, 230 0
R6.10.28| 14 |FFMEFBIHI 3,790 50I 1,895 0 0 0 0 0 1,895 0 0
R6.10.28 15 |FHHHEREHE(RT 8/8) 1, 800 1oo| 1,800 1. 800 0 0 ¢ 0 0 0 0
R6.10.28 16 |HHEREME(RT 8/9) 1,800 1oo| 1,800 1,800 0 0 o 0 0 0 0
R6.10.28| 17 |H¥EIEHE (BT 8/30) 6.160 100 6, 160 6, 160 0 0 0 0 0 0 0
RG.10.28( 18 |FiEREE-E (R 9/ 6.160| 100, 6, 160 6, 160 0 0 0 0 0 0 0
R6.10.28| 19 |F734:EB&f= (BT 9/5) 6,160| 100 3 IGUI 6, 160 0 0 0 0 0 0 0
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R6.10.28] 20 |F¥bERR& (R 9/6) 6,160] 100 6, 160 6, 160 0 0 ¢ 0 0 0 oI
R6.10.28| 21 |HLEERMS(ERF 9/12) 620] 100} £20 620 0 0 0 0 0 0 ol
R6.10.31] 22 |aE—#BfER¥ OAD) 5,610 50§ 2,805 0 0 i} ¢ 0 0 2, 805 ol
R6.10.27| 23 {H W) it 4,563 25 1, 140 1,140 0 0 0 0 0 ] 0
ol 0 0 0 0 0 0 o 0
1A% 163, 123 94.716' 34,822 0 0 0 8,785 4,680 25, 664 20, 765
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B (o) mawns | wew | osur | sasex |TRREEE) pupoe | eaman | sser | oswx | Asn
Re 1L 1 [Hu e amnol 2] 1.179 1,179 0 0 0 0 0 0 o]
Re. 1111 2 [Hu i 6,223 25 1,585 1,585 0 0 0 0 0 0 o]
RE.11.14] 3 [HESBARE( I 27 LAY Rz ) 2,603 s50] 1.34e| 0 0 0 0 0 0 1,346 o]
RE.11.141 4 |EeISSEiEBmRE A 42,200 50f a1, mol 0 0 0 0 0 0 0 21, 1oor
R6.11.17] 5 [Hw Uit 3,878 25 gsgl 068 0 0 0 0 0 0 0]
R6. 11,20 & |BEHRLTAKERAIAD 3,509 50 1, 754' 0 0 0 0 ] 1,754 0 ol
R6.11.20) 7 |BEAERRIIAS 1,554| 50 m 0 0 0 0 0 m 0 of
R6.11.20] 8 [HU U4 5513 25 1, ml 1,378 0 0 0 0 0 0 ol
R6.11.25| 9 [HY Wi 4,233 25 1, ossl 1,058 0 0 0 0 0 0 0
RE.11.26] 10 |1 v & —F v MME(BERSE) 1A 9,363 50 4, 681 o 0 0 0 0 0 4, 681 ol
RE.11.261 11 | —#{ERAM (1085 7.280] 50| 3, 640 0 0 0 0 0 0 3, 640 ol
R6.11.27) 12 PHHERHE (GEERERS 9A108) 1,160 wol 1,160 1,160 ¢ 0 0 0 0 0 ol
RE.11.27 13 [HMEMESE (REF 98128) 5, 540 1oo| 5, 540 5, 540 0 0 0 0 0 0 ol
RE.11.27) 14 [H¥ERRHEHE(RF 98248) 6,160{ 100 8. 160 6. 160 0 0 0 0 0 0 of
R6.11.27| 15 |H#ERE#HEE(RT 9827R) 6,160] 100 6, 160 6, 160 0 0 0 0 0 ¢ ol
R6.11.27] 17 | —i)—A$ 20,460 50 10, 230] 0 0 0 0 0 0 10, 230 0
R6.11.27 18 [EEFREIEIR 3,790 50 1,895 0 0 0 0 0 1,895 0 0
1Ak 134,433 70, 582 25, 159 0 0 0 0 4,426 19,897 21,100
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R6.12.8] 1 [HUULR 5.080) 28 1,272 1,272 0 0 0 0 0 0 or
Re.12. 11| 2 {HVY ik 3,962 25 990 990 0 0 0 0 0 0 o]
RE.12.12) 3 |BIFITMEBMAAGRGIAS) 31,800 50 15, 900 0 0 0 0 0 0 0 15, 900
R6.12.16] 4 [H VU it 4,443 25 1, 110} 1,110 0 0 ] 0 0 0 o
R6.12.22| § [HUU ik 3,92 25 982 982 0 0 0 0 0 0 0
R6.12.23| & |BEEAETAERO2RL) 3,508) 50 1, 754) 0 0 0 0 0 1,754 0 oH
R6.12.23) 7 |EHAAERM (2R 1,697 50 848 0 0 0 0 0 848 0 oI
R6.12.27] 8 |HHLEEHE (REXSHE 10/11) 6,160 100 6, 160 6,160 0 0 0 0 0 0 0
86.12.27) 9 |HHEBES (CEMENEHNEESEE 10/24 6,160| 100 6. 160 6, 160 0 0 0 0 0 0 0
RE.12.27| 10 |[HEHBHE (XEMFBERESINERSEE 10/25 6.180| 100§ 6,180 6,180 0 0 0 0 0 0 0
RG.12.27 1 |FHEEHE(HREESSR 10/2D 5040 100 5. 040 5,040 0 0 0 0 0 0 o]
R6.12.27 12 \REMEIFIHN 3,790 50 1.895 0 0 0 0 0 1,895 0 0
RE.12.27] 13 |[aEF—#U—RH 20,460 50| 10.230) 0 0 0 0 0 o 10,230 0
R6.12.27] 14 [HY K 5,215 25 1.303] 1,303 0 ¢ 0 0 0 0 0
0 0 0 0 0 0 0 0 0
0 0 0 0 0 0 0 0 0
0 0 0 0 0 0 0 0 0
i 0 0 0 0 0 4 0 0
12A% 107,435 59, 824 29,197 0 0 0 0 4,407 10.230) 15,900
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RLT.G| 1 |HWU ik 37200 25 930 830 0 0 0 0 0 0 0
RLLE|l 2 |HV ik 4,507 28 1,126 1,126 0 0 0 0 0 0 0
R7.1.9[ 3 |aE—HEHEREM(1AS) 5,610 5oi 2,805 0 0 0 0 0 0 2, 805 o
R7.1.8] 4 |[A &8 —3Fy FMUEBERESE) (129 11,517 50! 5. 758 0 0 0 0 0 0 5, 758 of
RLLM| 5 |Hvy g 5628 25 1.407 1,407 0 0 0 0 0 0 of
RI.1I5| 6 |RUESEIEN A A S 23,850 s0] 11,925 0 0 0 0 0 0 of 11,925
RLL1IL 7 [Hvuyss 52020 25 1, 300' 1,300 0 0 0 0 0 0
Rr.1.230 8 |[®ESAR.ETFREROAS) 3.500| 50 1. 754' 0 0 0 0 1,754 0 0
Ri1.23) 9 (Y& —hu MUBERED) 1AM 9.563| 50 4,781 0 0 0 0 0 4,781 ol
R7.1.231 10 |BEHBEALAD 2,736 50' 1,367 0 0 0 0 0 1,367 0 El
RL1L27| 1 [HHEHMS(ARES 11/19) 8, 160 100! 6. 160} 6, 160 0 0 0 0 0 0 —oq
Ri.1.21| 12 [FHEREME CORRERERRIEE S 11/25) 3.080] 100 3,080 3,080 0 0 0 0 0 0
RL.1L.270 13 (AHBHHE (AREEEES 11/ BF-EEERERR) 3,500| 100] 3 500' 3,500 0 0 0 0 0 0 o]
RT.L27[ 14 |HMERHE (ARBS 11/26) 6, 160 100L 6, 160! 6,160 0 0 0 0 o 0 of
R7.1.27) 15 [oE—#y—2a¥y 20,460 50 10, 230 0 0 ¢ 0 0 10, 230 0
R7.1.27] 16 |EZRSIHRML 3,790 50 1,895 0 0 0 0 1, B95 0 0
RZ.1.30| 17 |ar—iEme 5610) 50] 2,805 0 0 0 0 0 0 2,805 0
1A% 124, 601 66.983] 23,663 0 0 0 0 5.016] 26,379 11,925
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R7.1.23] 1 HYY 4,501 25 1,125 1,125 0 0 0 0 0 0 0
R7.1.28] 2 {2k 4,434] 25 1, 108] 1,908 0 0 0 0 0 0 ol

R7..2.5| 3 [HwUri 4.4160 25 1, 119] 1,119 0 0 0 0 0 0 0

R1.2.8] 4 |HUy 3,752 25 933“ 938 0 0 0 0 0 0 o]
R1.2.13] § |RESERWBEEAAGROAY 31, 800 5o| 15, 900] 0 0 0 (] 0 0 0 15, sook
RI.2.13| 6 |HESBARQEP—R#X) 2,910 5o| 1, 455 0 0 0 0 0 0 1,455 ol
RT.2.13| 8 |HYY e 5212 25 1,303) 1,303 0 0 0 0 0 0 ol
RLZ1I| ¢ [Hvii 4, 430 zsl 1,109 1,109 0 0 0 0 0 0 ol
R.2.21| 10 |HV it 4, 254 25! 1,063 1,063 0 0 0 0 0 0 )|
R7.2.25] 11 |HV ) i 3.868| 25 967 967 0 0 0 0 0 0 of
R7.2.26] 12 |BHEABESKACHED 2.750| 50 1,375 0 0 0 0 0 1,375 0 of
R7.2.26] 13 |4 B —Fw HE(BERSE) CAD) 9,310 50 4, 655 0 0 0 0 0 0 4, 655 of
R7.2.26| 14 |EFHARLTRERCAS) 3.s00p so] 1. 754| 0 0 0 0 0 1,754 0 ol
R7.2.27| 15 [Hw 1) 2 5,218 25 1, 304| 1,304 0 0 0 0 0 0 ol
R7.2.27) 16 |HHhEBES CORDERESIIESASERE 12/25 6,160 100} 8, ISOl 6,160 0 0 0 0 0 0 ol
RrL2.2m 17 | FEHEEREe et 1/ 6,180] 100] 6, iaol 6,180 0 0 0 0 0 ) 0

ANERNS (ERERERRERITEabYE. Tl

R1.2.27| 18 EoEE 1/14) 2,180 100} 2,180 2,180 0 0 0 0 0 0 of
R7.2.27| 19 |AHERHE(REBELE 1/15) 4,360 100 4, 3ao| 4,360 0 o 0 0 0 0 0
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R7.2.27] 20 |EHFAEIHIGH 3,790 4] 1. 895 4] 0 0 0 0 1, 895 0 i} |
R1.2.271 21 |3 E—#) — 24 20, 460 B0 10, 230 0 0 0 \) 0 0 10, 230 i} |
0 0 0 0 0 0 0 0 i} |
0 0 0 0 i) 0 0 0 UI
2H &t 133, 564 66, 180 28, 916 0 0 0 0 5, 024 16, 340 15, 800
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o (%) mEwnk | awr | amr | ceces [FERREE) pupow | gumar | swrr | smr | Aem
R..2.12| 1 f‘;ﬁ?%ﬁ (ZA—NEREYFY : IEBORBXILE 2.2000 10|  zz200] 2200 0 0 0 0 0 0 0
R7.3.3] 2 [HY Uit 5,045| 25 1, 261 1,261 0 0 0 0 0 0 0
R7.3.70 3 |®ISBEMAR (surface@nF) 3,748 100 3, 748I 0 0 0 0 0 0 3,748 0
R1.3.8] 4 |HVU U 5,425 25 1, 356| 1,386 0 0 0 0 0 0 oi
RT.3.13| 6 (BCBNEEBIIMAAGE RS 23,850 50 1, 925| 0 0 0 0 0 0 0 11, 9;|
RI.314| 6 |aE—#ERHM B 5,610] 50 2, sosl 0 0 0 0 0 0 2,805 —ol
R7.3.18] 7 [Hv ik 5083 25 1,495 1,495 0 0 0 0 0 0 0
R7.3.18| 8 |EBATETAKRHERGCAD 3.508) 50 1, 754I 0 0 0 0 0 1,764 0 0
RT.3.18| 9 [FHAESEREGAD 1,506] 50} 953| 0 0 0 0 0 953 0 0
R7.3.18| 10 [HERRAE I v 1481 50} 74' 0 0 0 0 0 0 " 0
RL.3.25] 11 {4 2o —w FMUBERSL) BAM 9,457y 50 4,728 0 0 0 0 0 0 4,728 0
R1.3.21| 12 |REFREIHIFHL 3,790 50 1,885 0 0 0 0 0 1,895 0 0
R7.3.27| 13 |aE—#)—2H 20,460 s0] 10,230 0 0 0 0 9 o 10,230 0
RI.3.27| 14 |[FMdEid e (REEERS 1/15) 1,800 100 1, aoul 1,800 0 0 0 0 0 0 0
RL.3.27| 15 |HMEREME (. 1TOEL 1/17) 6,160] 100 6. 1so| 6. 160 0 ] 0 0 0 0 0
RL.3.2I[ 16 |HMMBHE GEREHEESEAS TRER 25 1,160 100‘ 1, 160' 1,160 0 0 0 0 0 0 0
R7.3.21( 17 |HHERME (—RERLYFv 2/6) 6, 160 100' 6. 160 6, 160 0 0 0 0 0 0 ol
R7.3.27| 18 |AMERMHE (RERRS 2/10) 620 100I 620 620 0 0 0 0 0 0 ol
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R1.3.21| 19 |Huy o a.060| 25 1,015 1,015 0 0 0 0 0 0 o
RT.3.28] 20 |HU YL s,t12| 28| v om 1,278 0 0 0 0 0 0 0
o| 0 0 0 0 0 0 0 0
0 0 0 0 0 0 0 0 0
I8 116, 203 g2.617] 24,505 0 0 0 ol  aso2) 21588 19,9
P 1,076, 752 654.603| 214, 888 145, 653 0 of 8785 262 143.508] 109,235




